KANSAS CORPORATION COMMISSION OIL & GÁS CONSERVATION DIVISION

ORIGINA Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 5039	API No. 15 - 007-23041-0000
Name: A G V Corp.	County: Barber
Address: 123 N Main	NW SE Sec. 20 Twp. 33 S. R. 10 ☐ East ₩ West
City/State/Zip: Attica, Ks 67009	1980 feet from S/ N (circle one) Line of Section
Purchaser: Bluestem Gas	feet from ©/ W (circle one) Line of Section
Operator Contact Person: Larry G. Mans	Footages Calculated from Nearest Outside Section Corner:
Phone: (620) 254-7222	(circle one) NE (SE) NW SW
Contractor: Name: Fossil Drilling Inc.	Lease Name: Spicer Well #: A3
License:33610	Field Name: Traffas SE
Wellsite Geologist: Kent Roberts	Producing Formation: Mississippi
Designate Type of Completion:	Elevation: Ground: 1509 Kelly Bushing: 1518
New Well Re-Entry Workover	Total Depth: 4826 Plug Back Total Depth: 4791
	Amount of Surface Pipe Set and Cemented atFeet
X Gas ENHR SIGW	Multiple Stage Cementing Collar Used? ☐ Yes ▼No
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tow/sx cmt.
Well Name:	
-Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	,
Plug Back Plug Back Total Depth	Chloride content ppm Fluid volume bbls
Commingled Docket No	Dewatering method used
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name:
	Lease Name: License No.:
8-9-06 8-17-06 9-7-06 Spud Date or Date Reached TD Completion Date or	Quarter Sec Twp S. R East West
Recompletion Date Recompletion Date	County: Docket No.:
INSTRUCTIONS: An original and two copies of this form shall be filed with the Kansas 67202, within 120 days of the spud date, recompletion, workover Information of side two of this form will be held confidential for a period of 12 107 for confidentiality in excess of 12 months). One copy of all wireline logs a TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. It months if requested in writing and submitted with the form (see rule 82-3-101 geologist well report shall be attached with this form. ALL CEMENTING Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regulate herein are complete and correct to the best of my knowledge.	the oil and gas industry have been fully complied with and the statements
Signature: Jace of Man	KCC Office Use ONLY
Title: Secretary Date: 12/12/06	N Letter of Confidentiality Attached
Subscribed and sworn to before me this 12 day of Secundar	If Denied, Yes Date:
n 200 6	Wireline Log Received
	Geologist Report Received RECEIVED
Notary Public: AGNES Notary Public - St Notary Public - St	ate of Konnell UIC Distribution
Date Commission Expires: Oct 7, 2007 My Appt. Expires Oct	7,2007
/	CC WICHITA

ORIGINAL

Operator Name: A	G V Corp.			Lease	Name:.	Spicer	17	Well #: _A3	3	
Sec. 20 Twp. 3	3 s. R. 10	East [✓ West	County	/: <u>B</u> a	rber	<u> </u>	₹,		
INSTRUCTIONS: Sho tested, time tool open temperature, fluid reco Electric Wireline Logs	and closed, flowin every, and flow rate	g and shut-in es if gas to sur	pressures, face test, a	whether shalong with fi	nut-in pro	essure reached	static level, hydros	tatic pressur	es. bott	om hole
Drill Stem Tests Taken (Attach Additional S		☐ Yes	⊠No			og Formatio	on (Top), Depth ar	nd Datum		Sample
Samples Sent to Geole	ogical Survey	☐ Yes	∑ No		Nam	ie .		Тор		Datum
Cores Taken Electric Log Run (Submit Copy)	,	☐ Yes ∑ Yes	⊠No □No			,				
Dual Micro	Induction Compensate resistivi Cement Bo	ty	sity							
		Report all		RECORD	Ne	w Used ermediate, product	ion, etc.	· ·		· · · · · · · · · · · · · · · · · · ·
Purpose of String	Size Hole Drilled	Size Ca Set (In	asing	Weig	ht	Setting Depth	Type of Cement	# Sacjs Used		and Percent Additives
Surface	12 1/4	8 5/8		23		267	60/40 Poz	185	2왕 3왕	Gel CC
Production		5 ½		14		4826	60/40 Poz	205	28 28	Gel Gils.
		ΔΓ	ODITIONAL	CEMENTIN	IG / SOI	JEEZE RECORD				
Purpose: Perforate Protect Casing Plug Back TD Plug Off Zone	Depth Top Bottom	Type of C	•	#Sacks I				rcent Additives		
Shots Per Foot	PERFORATION	ON RECORD -	Bridge Plug	s Set/Type		Acid, Frac	ture, Shot, Cement S	queeze Recor	d	
	4* *	ootage of Each	Interval Per	forated		(Am	ount and Kind of Mate	erial Used)		Depth 4578
2	4578-4596					2800 G 10% NE/FE 4654				
. 2	4602-4620 4634-4654					Frac 170,600# sand 4578 400,000 G slick water 4654				
							<u> </u>			,
FUBING RECORD	Size 2 3/8	Set At 4540		Packer At		Liner Run	Yes 🔀 No			
Date of First, Resumerd Pr $9-7-2$		nhr. Pro	ducing Meth		Flowing	Pumpin	g 🔲 Gas Lift	Othe	r (Explair	 1)
stimated Production Per 24 Hours		3bis.	Gas 1	Mcf	Wate 0			s-Oil Ratio		Gravity
Disposition of Gas	METHOD OF C	OMPLETION				Production Interv	al			*
Vented Sold [Used on Lease	=	Open Hole Other <i>(Specif</i>	Perf.	p	ually Comp. [Commingled	· · · · · · · · · · · · · · · · · · ·		

*Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

************** * INVOICE *

* *********

Invoice Number: 103800

Invoice Date: 08/11/06

11356

7

Sold AGV Corporation To: 123 North Main

Attica, KS

67009

Cust I.D....: AGV

P.O. Number..: Spicer A-3 P.O. Date...: 08/11/06

Due Date.: 09/10/06

Terms....: Net 30

Item I.D./Desc. Qty	y. Used		Unit	Price	Net	TX
Common	111.00		SKS	10.6500	1182.15	Т
Pozmix	74.00	:	SKS	5.8000	429.20	· m·
el .	3.00		SKS	16.6500	49.95	$\dot{f T}$
hloride	6.00		SKS	46.6000	279.60	T
landling	194.00		SKS	1.9000	368.60	Ē
lileage	15.00		MILE	17.4600	261.90	E
194 sks @.09 per sl	k per mi		1 1			
urface	1.00		JOB	815.0000	815.00	E
lileage pmp trk	15.00		MILE	6.0000	90.00	E
ead Rental	1.00	A STATE OF THE STA	PER	100.0000	100.00	E
WP	1.00	•	EACH	60.0000	60.00	. T

ll Prices Are Net, Payable 30 Days Following ate of Invoice. 1 1/2% Charged Thereafter. f Account CURRENT take Discount of \$ 363.64 NLY if paid within 30 days from Invoice Date

Subtotal:
Tax...:
Payments:
Total...:

3636.40 126.06 0.00 3762.46 363.64

3398.82

PAID AUG 2 8 2006

RECEIVED
DEC 14 2006
KCC WICHITA

ALLIED CEMENTING CO., INC.

23943

REMIT TO P.O. E RUSS	BOX 31 SELL, KANSAS 6766	5		SERV	ICE POINT:	ne Lodge
DATE 8-9-06	SEC. TWP.	RANGE 10 W	CALLED OUT	ON LOCATION	JOB START	IOB EINICH
LEASE Spicer	well# A-3		ron, Ks 3		COUNTY	STATE
OLD OR NEW Ci					*arogr	
CONTRACTOR	Fossil =1	OR HATATIK	OWNER A	Gama Ka GU Cor		, / / / / /
	surface	2/1/				· · · · · · · · · · · · · · · · · · ·
HOLE SIZE /	m(/	<i>268'</i> TH <i>267'</i>	CEMENT	DEDED		
TUBING SIZE	DEP		AMOUNT OR	X <i>60:40:2</i>	+37	 -
DRILL PIPE	DEP'	ГН		~ ~ ~ ~ ~ ~ ~	· Sarc	
TOOL PRES. MAX	DEP					
MEAS. LINE		IMUM E JOINT	COMMON	111 A	@ <u>10.65</u>	
CEMENT LEFT IN		E JOHN I	POZMIX GEL	74	@ <u>5.80</u>	429.2
PERFS.			CHLORIDE	le	@ <u>/6.65</u> @ <u>46.60</u>	279.6
DISPLACEMENT	16 851	s water	ASC		@	011.0
•	EQUIPMENT	ar e			@	
		-0.1			.@	
	CEMENTER Carl	Dalding			@	
# // 7 SO / H BULK TRUCK	IELPER Denni	s Lushanba	ery		@	
	RIVER Land	Mekin	Ne co		@	
BULK TRUCK		, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			@	
# D	RIVER		- HANDLING	194	@ <u> </u> @ <u> </u>	7/0/4
		en e	MILEAGE	15 ×194	X.09	368.60
	REMARKS:				TOTAL	2571.4
MIX 1802X	8 Break circ 60:40:2+3	716		SERVIC		
	- +Displace			267'		
ZEUDI IS	Coment in g	Dipe +3hut				815.0
Coment	Did Circul	25 5x	EXTRA FOOTA MILEAGE		@	00 00
			MANIFOLD		@ 6.00	90.00
			Head less	tal	@100.00	100.00
CHARGE TO. A	SV Corp			(@	
	2 V COIT		<u> </u>			
STREET		<u> </u>	-		TOTAL _	1005.00
CITY	STATE	ZIP				
			85/8" PI	LUG & FLOAT E	QUIPMENT	
an a se an em	The second secon	حجو المحالي	1-TWP		~ 600	60.00
T Att: 10						
To Allied Cementin	g Co., Inc.			@	· ——— —	
and furnish cemente	ested to rent cemen er and helper to assis	ting equipment		@		· · · · · · · · · · · · · · · · · · ·
contractor to do wor	k as is listed. The a	hove work was		CABLE TAX		
lone to satisfaction	and supervision of o	wner agent or		CHARGED	TOTAL (00.00
contractor. I have re	ead & understand the	e "TERMS AND	•	VOICING		20100
CONDITIONS" listo	ed on the reverse sid	le.	TAX			
			TOTAL CHARGI			
			DISCOUNT		IF PAID I	N 30 DAYS
IGNATURE /	Low Al			1 2		-
		7	ے	oto Al	berg	
	/			PRINTED	NAME	



SALES OFFICE:

100 S. Main Suite #607 Wichita, Ks. 67202 316-262-3699 316-262-5799 FAX

SALES & SERVICE OFFICE:

10244 NE. HW P.O. Box 8613 Pratt, Ks. 67124-8613 620-672-1201 620-672-5383 FAX

SALES & SERVICE OFFICE:

1700 S. Country Estates Rd. P.O. Box 129 Liberal, Ks. 67905-0129 620-624-2277 620-624-2280 FAX

Invoice

Bill t		Invoice		oice Date	Order	Station
	ATTICA GAS VENTURES	607311		8/17/06	13944	Pratt
	123 N. Main				Description	
	Attica, KS 67009				ment	
			Lease		We	
			Spice	r	A-	
			AFE		PC	
	CustomerRep			Tr	eater	Net 30
	Kent				Gordley	
ID.	Description		UOM	Quantity	Unit Price	Price
D205	AA2 (COMMON)		SK		\$15.90	\$2,385.00 (T
D203	60/40 POZ (COMMON)		SK		\$10.30	\$566.50 (T
C195	FLA-322		LB	113	\$7.50	\$847.50 (T
C221	SALT (Fine)		GAL	784	\$0.25	\$196.00 (T
C243	DEFOAMER		LB	36	\$3.45	\$124.20 (T
C312	GAS BLOCK	*	LB	141	\$5.15	\$726.15 (T
C321	GILSONITE		LB	751	\$0.67	\$503.17 (T
C244	CEMENT FRICTION REDUCER		LB	43	\$6.00	\$258.00 (T
C141	CC-1, KCL SUBSTITUTE		GAL	. 5	\$44.00	\$220.00 (T
C304	SUPER FLUSH II		GAL	1000	\$1.53	\$1,530.00 (T
7101	TURBOLIZER, 5 1/2"		ĒΑ	10	\$74.20	\$742.00 (T
171	LATCH DOWN PLUG & BAFFLE, 5 1/2"		EA	1	\$250.00	\$250.00 (T
211	AUTO FILL FLOAT SHOE, 5 1/2"		EA	1	\$320.00	\$320.00 (T
100	HEAVY VEHICLE MILEAGE - 1 WAY		MI	90	\$5.00	\$450.00
101	CAR, PICKUP OR VAN MILEAGE - 1 WAY		MI -	45	\$3.00	\$135.00
104	PROPPANT / BULK DELIV SERVICES/TON MILE, \$200	MIN	TM	425	\$1.60	\$680.00
107	CEMENT SERVICE CHARGE		SK	205	\$1.50	\$307.50
210	CASING CEMENT PUMPER, 4501-5000' 1ST 4 HRS ON	LOC	EA	1	\$1,827.00	\$1,827.00
701	CEMENT HEAD RENTAL	•	EA	. 1	\$250.00	\$250.00
1702	CASING SWIVEL RENTAL		EA	1	\$150.00	\$150.00
100	FUEL SURCHARGE	RECE	î\/EΓ	1	\$130.92	\$130.92
		DEC 14	2006		Sub Total:	\$12,598.94

KCC WICHITA Discount Sub Total:

\$1,994.55

Barber County & State Tax Rate: 6.30%

\$10,604.39

Taxes:

\$459.66

(T) Taxable Item

Total:

\$11,064.05

PAID AUG 2 8 2008

15 ONL BOTP to KOCHERA RD - INV-1/2N 13944 **Subject to Correction** Date **Customer ID** County Station Depth Shoe Joint Materials AFE Number PO Number Received by Station Product Code QUANTITY MATERIALS, EQUIPMENT, and SERVICES USED **UNIT PRICE** Code **AMOUNT** THE BUT RECEIVED DEC 1 4 2006 KCC WICHITA 10244 NE Hiway 61 • P.O. Box 8613 • Pratt, KS 67124-8613 • (620) 672-1201 • Fax (620) 672-5383 TOTAL / 0, 473.47 Taylor Printing, Inc. 620-672-3656